
1003

SLIT TYPE RODLESS CYLINDERS
ORCA,ORGA SERIES

INDEX

 1004
ORCA

 1006
 1007

/  1008
 1010

 1012
ORGA

 1017
 1019

/  1021
 1022

 1023
 1024

 1026

CAD

C

JC

SD

6 10

12 63

GA

6

B

Z

GT

WS

MT

RT

WT

YZ

ORV

ORC 10

ORCA
ORGA

ORK

ORC
63, 80

MRC
MRG

ORS
MRS

ORW
MRW

RAP

RAT

RAN

RAK

RAG

RWT

SHM

SHM

30RoHS

58

ORCA,ORGA

1003



1004

1. 3.
1/2

2.
3000mm/s ORCA16·20 ORGA

1500mm/s

 · 

A4 B2

B1

A1

A3

A4 B2

A2

A1

B1

CM

ORCA16·20·25
ORGA16·20·25

ORCA32·40·50
ORGA32·40·50

ORCA,ORGA

ORCA

×

C

JC

SD

6 10

12 63

GA

6

B

Z

GT

WS

MT

RT

WT

YZ

ORV

ORC 10

ORCA
ORGA

ORK

ORC
63, 80

MRC
MRG

ORS
MRS

ORW
MRW

RAP

RAT

RAN

RAK

RAG

RWT

SHM

SHM



1005

1.  · 

2.
 · 

784.5N 50
112.8N·m 50

16 20 25 32 40 50

ORGA

ORCA 16×300 31,100
ORCA 25×300 42,800
ORCA 40×300 66,000
ORGA 16×300 36,400
ORGA 25×300 53,900
ORGA 40×300 86,400

C

JC

SD

6 10

12 63

GA

6

B

Z

GT

WS

MT

RT

WT

YZ

ORV

ORC 10

ORCA
ORGA

ORK

ORC
63, 80

MRC
MRG

ORS
MRS

ORW
MRW

RAP

RAT

RAN

RAK

RAG

RWT

SHM

SHM



1006

16

20

25

32

40

50

100, 200, 300, 400, 500, 600, 700, 800 0~3000

0~5000

200, 300, 400, 500, 600, 700, 800, 

1000, 1200, 1400, 1600, 2000

200, 300, 400, 500, 600, 700, 800, 

1000, 1200, 1400, 1600, 2000

300, 400, 500, 600, 700, 800, 

1000, 1200, 1400, 1600, 2000

300, 400, 500, 600, 700, 800, 

900, 1000, 1100, 1200, 1300, 1400, 1600, 2000

500, 600, 700, 800, 900

1000, 1100, 1200, 1400, 1600, 2000

 MPa

 MPa

mm

 mm/s

 mm

mm

1000

1001~3000

3001~5000

C

16

0.1~0.8

1.2

0~60

100~1500

+1.5
0

+2.0
0

M5×0.8 Rc1/8 Rc1/4 Rc3/8

+2.5
0

15 18 21 26 40

100~3000

20 25 32 40 50

ORCA

mm

mm

16

20

25

32

40

50

 0.21

 0.47

 0.7

 1.7

 2.7

 4.0

 0.35

 0.78

 1.2

 3.2

 4.5

 6.6

0.0010

0.0017

0.0022

0.0038

0.0052

0.0073

 0.07

 0.13

 0.23

 0.9

 1.2

 1.8

C

 0.026

 0.055

 0.10

 0.17

 0.45

 0.45

0.2

0.2

0.1

0.2

0.4

1.1

1.7

2.4

1.4

2.1

 0.014

 0.03

 0.05

 0.1

 0.15

 0.2

 0.03

 0.08

 0.13

 0.2

 0.2

 0.4

 0.03

 0.05

 0.1

 0.2

 0.3

 0.8

A 0.05

B 0.09

M T CM CT L F G
1mm 1

2

kg

mm mm2

200

314

490

804

1256

1963

20

31

49

80

126

196

40

63

98

161

251

393

60

94

147

241

377

589

80

126

196

322

502

785

100

157

245

402

628

982

120

188

294

482

754

1178

140

220

343

563

879

1374

160

251

392

643

1005

1570

  MPa

0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8

16

20

25

32

40

50

N

1mm

100~1000mm/s 1441

C

JC

SD

6 10

12 63

GA

6

B

Z

GT

WS

MT

RT

WT

YZ

ORV

ORC 10

ORCA
ORGA

ORK

ORC
63, 80

MRC
MRG

ORS
MRS

ORW
MRW

RAP

RAT

RAN

RAK

RAG

RWT

SHM

SHM



1007

L

ORCA 40×1000

×

1
    D

2

    F 

    L L 1 2

    F F
    G G

1 1
2 2

1027

ZG530  DC10~28V
ZG553  DC4.5~28V
 CS3M  DC10~30V
    AC85~230V
 CS4M  DC10~30V
    AC85~115V
 CS5M  DC3~30V
    AC85~115V

1 1
2 2

A 1000mm
B 3000mm

L ORCA

L L

16 16
20 20
25 25
32 32
40 40
50 50

D

CM

CM

CT

CT

ZG530

ZG530

ZG553

ZG553

CS3M

CS3M

CS4M

CS4M

CS5M

CS5M

F

L

L

F

F

G

G

C

C

M

M

T

T

1441

1 1
2 2

    C C
    M M
    T T
 CM CM
 CT CT

T CT 40 50

ORCA

 F F
G G

16 16
20 20
25 25
32 32
40 40
50 50

ORCA

   C C
   M M
    T T 40 50
CM CM
 CT CT 40 50

16 16
20 20
25 25
32 32
40 40
50 50

FPM

C

JC

SD

6 10

12 63

GA

6

B

Z

GT

WS

MT

RT

WT

YZ

ORV

ORC 10

ORCA
ORGA

ORK

ORC
63, 80

MRC
MRG

ORS
MRS

ORW
MRW

RAP

RAT

RAN

RAK

RAG

RWT

SHM

SHM



1008

q

w

e

r

t

y

u

i

o

!0

!1

!2

!3

No.

q

w

e

r

t

y

u

i

o

!0

!1

!2

!3

R 1

L 2

1

1

4

2

2

4

2

2

2

1

1

1

2

A'

A

q w e r t y u i o !0 !1 !2 !3 !4 !5 !6 !7 !8 !9 @0 @1

@2 @3 @4 @5 @6 @7

!4

!5

!6

!7

!8

!9

@0

@1

@2

@3

@4

@5

@6

@7

No.

!4

!5

!6

!7

!8

!9

@0

@1

@2

@3

@4

@5

@6

@7

NBR

NBR

NBR

NBR

2

2

1

2

1

1

8

2

2

2

2

2

2

2

FPM

NBR

FPM

FPM

FPM

1
2

ORCA16 · 20 · 25
ORCA25

A-A'

C

JC

SD

6 10

12 63

GA

6

B

Z

GT

WS

MT

RT

WT

YZ

ORV

ORC 10

ORCA
ORGA

ORK

ORC
63, 80

MRC
MRG

ORS
MRS

ORW
MRW

RAP

RAT

RAN

RAK

RAG

RWT

SHM

SHM



1009

q

w

e

r

t

y

u

i

o

!0

!1

!2

!3

!4

!5

!6

No.

q

w

e

r

t

y

u

i

o

!0

!1

!2

!3

!4

!5

!6

R 1

L 2

1

1

4

2

2

4

2

2

2

1

1

2

1

1

1

2

A

A'

q w e r t y u i o !0 #1 #2 !1 !2 !3 !4 !5 !6 !7 !8 !9 @0 @1 @2 @3

@4 @5 @6 @7 @8 @9 #0

!7

!8

!9

@0

@1

@2

@3

@4

@5

@6

@7

@8

@9

#0

#1

#2

No.

!7

!8

!9

@0

@1

@2

@3

@4

@5

@6

@7

@8

@9

#0

#1

#2

O CR

NBR

NBR

NBR

NBR

2

1

1

8

2

2

2

2

2

2

2

2

2

4

2

2

FPM

FPM

NBR

FPM

FPM

FPM

1
2

ORCA32 · 40 · 50
ORCA40

A-A'

C

JC

SD

6 10

12 63

GA

6

B

Z

GT

WS

MT

RT

WT

YZ

ORV

ORC 10

ORCA
ORGA

ORK

ORC
63, 80

MRC
MRG

ORS
MRS

ORW
MRW

RAP

RAT

RAN

RAK

RAG

RWT

SHM

SHM



1010

16

20

25

A

130

160

200

B

  65

  80

100

C

15

19

23

D

16

20

20

E

12

16

18

F

5.5

7.5

8.5

G

1.5

2

2

H

15

19

22

J

4

6.5

6.5

K

76

96

120

M

52

65

80

N

32

40

50

P

M3×0.5 5.5

M4×0.7 7

M5×0.8 9

Q

M3×0.5 5

M4×0.7 7

M5×0.8 9

R

27

34

40

T

12

16

18

U

6

7.5

7.5

V

3.4

4.4

4.4

ORCA16 · 20 · 25 mm

ORCA ×

ORCAD ×

B
E

B
D

N

M

K

2-P

E

2-

2-X 2

G H
J

F

D CC

B B

W1 W2

AA

2-
A

S
A

RR

A
E A
C

V

U

T

Z
Y

2-X 8-Q

A

B ABA

CLB B

CL

LL= 2 B CL

BA

16

20

25

W1

7

5.5

6

W2

7

9.5

10

X

M5×0.8 4

Rc1/8

Rc1/8

Y

1

1

1

Z

2.5

3.5

3.5

AA

18

26

26

AC

25

32

38

AE

22

28

33

AR

18

24

27

AS

3.4

4.5

5.5

BD

27

34.5

40

CL

  85

105

135

BE

24

31

36

CL

ORCA20

ORCA-

ORCA-DU1

C

JC

SD

6 10

12 63

GA

6

B

Z

GT

WS

MT

RT

WT

YZ

ORV

ORC 10

ORCA
ORGA

ORK

ORC
63, 80

MRC
MRG

ORS
MRS

ORW
MRW

RAP

RAT

RAN

RAK

RAG

RWT

SHM

SHM



1011

ORCAD ×

32

40

50

A

250

300

320

B

125

150

160

C

27

30

32

D

30

30

40

E

 21

 23.5

 24

F

 10.5

 12

 13

G

4

5

3

H

30

35

40

J

  9

  9

14

K

160

190

200

L

120

110

160

M

  90

  90

120

P

M6×1 15

M6×1 12

M6×1 12

Q

M6×1 15

M6×1 15

M8×1.25 15

R

52

60

74

S

36

42

52

ORCA32 · 40 · 50 mm

ORCA ×

G H
J

F

D

E

AA

A
E

W

2-X
4

N

M

L

K2 O 2-P

B
E

B

C

B

B
D

2-

A
D A
C

AB

Z
Y

T

W

S

R

8-Q

V

U

BA
B A

A

4-X
2

N

60

55

80

O

7

7

7

32

40

50

T

26

30

40

U

10.5

10.5

13.5

V

6.5

6.5

8.5

W

11

11

14

X

Rc1/4

Rc1/4

Rc3/8

Y

2

2

2

Z

4.3

4.3

5.3

AA

27

28

28

AB

18

18

18

AC

60

61

69

AD

54

57

65

AE

46

49

57

BD

54

63

75

CL

180

220

240

BE

48

58

70

CL

LL= 2 B CL

B CL B

CL

A B

ORCA-

ORCA-DU2

C

JC

SD

6 10

12 63

GA

6

B

Z

GT

WS

MT

RT

WT

YZ

ORV

ORC 10

ORCA
ORGA

ORK

ORC
63, 80

MRC
MRG

ORS
MRS

ORW
MRW

RAP

RAT

RAN

RAK

RAG

RWT

SHM

SHM



1012

LE

LA

LB

2- LC

LH

LF

LG

LD

LJ

16

20

25

LA

14

18

22

LB

10

13

16

LC

3.6

4.6

5.8

LD

26

33

39

LE

18

24

27

LF

15

19

22

LG

10

13

16

LH

 1.6

 2

 2.6

LJ

 6

 7

 8.5

mm

LA

LB

2- LC

LH

LG

LF

LJ LE

LD

32

40

50

LA

26

26

32

LB

18

18

22

LC

6.6

6.6

9

LD

50

58

72

LE

36

42

52

LF

30

35

40

LG

20

22

24

LH

3.2

4

4

LJ

12

14

14

mm

L -L

ORCA16 · 20 · 25 ORCA32 · 40 · 50

F L L

FB

FA 4- FC

FH FG FF

H

FE

FD

16

20

25

FA

25

38

38

FB

15

20

25

FC

3.5

4.5

5.5

FD

40

49

56

FE

32

40

46

FF

19

25

29.5

FG

4.5

6

9

FH

0.5

1.5

H

15

19

22

F -F

G -G

ORCA16 · 20 · 25

G
F

G
C

G
D

GA

GB

G
E

GH

GG

4-GJ

16

20

25

GA

15

19

22

GB

3

3

4

GC

 17

 21.5

 25

GD

25

30

45

GE

  8

12

20

GF

11

11

15

GG

30

40

50

GH

20

25

35

GJ

3.5

4.5

5.6

ORCA16 · 20 · 25

G
C

G
D

G
F

G
E

GB

GA

GH

GG

4-GJ

32

40

50

GA

30

35

48

GB

  5

  6

12

GC

34

40

50

GD

50

65

75

GE

22

33

36

GF

18

22

27

GG

60

60

80

GH

40

40

50

GJ

6.8

6.8

19, 14 8

ORCA32 · 40 · 50

FB

FA 4- FC

FH

FE

FD

H

FG FF

32

40

50

FA

50

50

65

FB

30

30

40

FC

6.6

6.6

9

FD

  72

  82

100

FE

60

70

85

FF

36

39

48

FG

6

6

9

FH

2

1

H

30

35

40

ORCA32 · 40 · 50

32

F L L

ORCA-L1

ORCA-F1

ORCA-G1 ORCA-G2

ORCA-F2

ORCA-L2

C

JC

SD

6 10

12 63

GA

6

B

Z

GT

WS

MT

RT

WT

YZ

ORV

ORC 10

ORCA
ORGA

ORK

ORC
63, 80

MRC
MRG

ORS
MRS

ORW
MRW

RAP

RAT

RAN

RAK

RAG

RWT

SHM

SHM

20



1013

N 2-P

M

K

S
E S
D

SG

A
C

2-
A

S

SC

SB

16

20

25

K

  65

  80

100

M

52

65

80

N

32

40

50

P

M3×0.5 6

M4×0.7 8

M5×0.8 10

AC

25

32

38

AS

3.4

4.5

5.5

SB

31

36.5

40

SC

5

6

7

SD

25

32

38

SE

22

28

33

SG

18

26

26

mm

C -C

ORCA16 · 20 · 25

N

2-P

M

SA

L

K

2- O

S
D

S
E

SB

SC AB

A
E

A
C

S
F

32

40

50

K

160

190

200

L

120

110

160

M

  90

  90

120

N

60

55

80

O

7

7

7

P

M6×1 15

M6×1 12

M6×1  12

AB

18

18

18

AC

60

61

69

AE

46

49

57

SA

178

188

SB

42

47

55

SC

 4

 4.5

 6

SD

60

71

79

SE

46

59

67

SF

23

20

20

ORCA32 · 40 · 50

ORCA-C1

ORCA-C2

C

JC

SD

6 10

12 63

GA

6

B

Z

GT

WS

MT

RT

WT

YZ

ORV

ORC 10

ORCA
ORGA

ORK

ORC
63, 80

MRC
MRG

ORS
MRS

ORW
MRW

RAP

RAT

RAN

RAK

RAG

RWT

SHM

SHM



1014

MB

K

2-MC

MA

M
O

MD

M
J

M
H

MN

AB

ME

MM

M
G

M
M

M
K

M
L

40

60

160

8

2- 6.6

4

48
.5

44

6

70

12

6

30

55

16

20

25

K

  65

  80

100

AB

10

15

15

MA

20

26

32

MB

10

13

16

MC

3.5

4.5

5.5

MD

3

4

5

ME

 25

 34.6

 37

MG

 34

 43.5

 52

MH

25

32

38

MJ

2

2.3

3.2

MK

 5

 6.5

 8

ML

13

16

20

MM

3

4

5

MN

 28

 38.6

 42

MO

 5

 6.5

 8

40

50

K

190

200

MA

90

90

MB

75

75

MC

7

7

MD

8

8

ME

70

70

MF

55

55

MG

75

83

MH

51

59

MJ

5

5

MK

12

12

ML

35

35

MM

5

5

MN

5

5

MO

70

70

mm

M -M

ORCA16 · 20 · 25

ORCA32

MB

K

MD

4- MC

MA

MF

ME

M
K

M
L

M
M

M
J

M
HM

G

MN

MO

ORCA40 · 50

ORCA-M1

ORCA-M2

ORCA-M2

C

JC

SD

6 10

12 63

GA

6

B

Z

GT

WS

MT

RT

WT

YZ

ORV

ORC 10

ORCA
ORGA

ORK

ORC
63, 80

MRC
MRG

ORS
MRS

ORW
MRW

RAP

RAT

RAN

RAK

RAG

RWT

SHM

SHM



1015

TB

K

4- TC

TA

TE

TD

TG

TF

40

60

160

2- 6.6

8

4
44

6

70

12

6

48
.5

55

46

60
60

30

42

MB 2-MC

K

MA

MD

M
G

SC

SB

M
J

MN

AB

ME

MM

M
O

M
M

M
K

M
L

M
Q

A
C

K

190

200

TA

178

188

TB

  80

120

TC

7

7

TD

60

60

TE

45

45

TF

66

74

TG

6

6

40

50

16

20

25

K

  65

  80

100

AB

10

15

15

AC

25

32

38

MA

20

26

32

MB

10

13

16

MC

3.5

4.5

5.5

MD

3

4

5

ME

25

34.6

37

MG

5

6.5

8

MJ

2

2.3

3.2

MK

5

6.5

8

ML

13

16

20

MM

3

4

5

MN

28

38.6

42

MO

34

43.5

52

MQ

25

32

38

SB

31

36.5

40

SC

5

6

7

40

50

K

190

200

AC

61

69

AE

49

57

MA

90

90

MB

75

75

MC

7

7

MD

8

8

ME

70

70

MF

55

55

MJ

5

5

MK

12

12

ML

35

35

MM

5

5

MN

5

5

MO

85

93

MP

71

79

MQ

61

69

SB

47

55

CM -CM
ORCA16 · 20 · 25

ORCA32

MF

ME

M
K

M
J

M
L

M
O

MN

SB

K

MB

MD

4- MC

MA

M
Q

A
E

A
C

M
P

M
M

ORCA40 · 50

mm

T -T

mm

ORCA-T

ORCA-CM1

ORCA-CM2

ORCA-CM2

ORCA40 · 50

C

JC

SD

6 10

12 63

GA

6

B

Z

GT

WS

MT

RT

WT

YZ

ORV

ORC 10

ORCA
ORGA

ORK

ORC
63, 80

MRC
MRG

ORS
MRS

ORW
MRW

RAP

RAT

RAN

RAK

RAG

RWT

SHM

SHM



1016

K

TB 4- TC

TA

TG

SB

TJ TH
A

CA
E

TE

TD

TK

40

50

K

190

200

AC

61

69

AE

49

57

SB

47

55

TA

178

188

TB

80

120

TC

7

7

TD

60

60

TE

45

45

TG

6

6

TH

76

84

TJ

59

67

TK

25

25

mm

CT -CT

ORCA40 · 50 ORCA-CT

C

JC

SD

6 10

12 63

GA

6

B

Z

GT

WS

MT

RT

WT

YZ

ORV

ORC 10

ORCA
ORGA

ORK

ORC
63, 80

MRC
MRG

ORS
MRS

ORW
MRW

RAP

RAT

RAN

RAK

RAG

RWT

SHM

SHM



1017

 MPa

 MPa

C

 mm/s

0.15~0.8

1.2

0~60

100~1000

15

1

18 21 26 40

2

mm

mm

1000

1001~3000

3001~5000

0~-15

0~-4

+1.5
0

+2.0
0

+2.5
0

M5×0.8 Rc1/8 Rc1/4 Rc3/8

0~-5 0~-6 0~-8 0~-10

0~-20 0~-30

mm

mm
16 20 25 32 40 50

ORGA

 J

 mm

 mm/s

 cycle/min

1  J/min

 N

C

KSHJ10×10-01

ORGA16

3

10

1000

40

0~60

31

120

8.0

220

7.6

240

9.2

320

22.0

450

22.0

500

28.5

KSHJ12×10-01

ORGA20

6

KSHJ14×12-01

ORGA25

10

12

KSHJ18×16-01

ORGA32

20

16

KSHJ20×16-01

ORGA40

30

KSHJ22×25-01

ORGA50

50

25

1 1 ISO VG32
2 1028

1441

60 30

C

JC

SD

6 10

12 63

GA

6

B

Z

GT

WS

MT

RT

WT

YZ

ORV

ORC 10

ORCA
ORGA

ORK

ORC
63, 80

MRC
MRG

ORS
MRS

ORW
MRW

RAP

RAT

RAN

RAK

RAG

RWT

SHM

SHM



1018

mm

16

20

25

32

40

50

  200

  314

  490

  804

1256

1963

0.15

  30

  47

  49

  80

126

196

0.2

  40

  63

  98

161

251

393

0.3

  60

  94

147

241

377

589

0.4

  80

126

196

322

502

785

0.5

100

157

245

402

628

982

0.6

120

188

294

482

754

1178

0.7

140

220

343

563

879

1374

0.8

160

251

392

643

1005

1570

mm2

  MPa

16

20

25

32

40

50

100, 200, 300, 400, 500, 600, 700, 800

200, 300, 400, 500, 600, 700, 800, 1000, 1200, 1400, 1600, 2000

200, 300, 400, 500, 600, 700, 800, 1000, 1200, 1400, 1600, 2000

200, 300, 400, 500, 600, 700, 800, 1000, 1100, 1200, 1400, 1600, 2000

300, 400, 500, 600, 700, 800, 900, 1000, 1100, 1200, 1400, 1600, 1800, 2000

300, 400, 500, 600, 700, 800, 900, 1000, 1100, 1200, 1400, 1600, 1800, 2000

0~3000

0~5000

N

mm

1mm

1mm
L F

1

16

20

25

32

40

50

0.37

0.71

1.15

2.45

3.75

5.80

0.0013

0.0022

0.0027

0.0045

0.0054

0.0083

0.042

0.07

0.12

0.22

0.40

0.62

0.034

0.056

0.10

0.17

0.35

0.52

0.014

0.03

0.05

0.10

0.08

0.22

0.008

0.015

0.06

0.08

0.12

0.12

A 0.05

B 0.09

kg

C

JC

SD

6 10

12 63

GA

6

B

Z

GT

WS

MT

RT

WT

YZ

ORV

ORC 10

ORCA
ORGA

ORK

ORC
63, 80

MRC
MRG

ORS
MRS

ORW
MRW

RAP

RAT

RAN

RAK

RAG

RWT

SHM

SHM



1019

1 1
2 2

ORGA 40×1000

×

     L L 1 2

     F F 1 2

1 1
2 2

1027

ZG530     DC10~28V
ZG553     DC4.5~28V
 CS3M     DC10~30V
                    AC85~230V
 CS4M     DC10~30V
                    AC85~115V
 CS5M     DC3~30V
                    AC85~115V

1 1
2 2

1 1
2 2

A 1000mm
B 3000mm

ORGA

L L
F F

16 16
20 20
25 25
32 32
40 40
50 50

L

L

F

F K S

ZG530

ZG530

ZG553

ZG553

CS3M

CS3M

CS4M

CS4M

CS5M

CS5M

KSHJ10×10-01 ORGA16
KSHJ12×10-01 ORGA20
KSHJ14×12-01 ORGA25
KSHJ18×16-01 ORGA32
KSHJ20×16-01 ORGA40
KSHJ22×25-01 ORGA50

 S16 ORGA16
 S20 ORGA20
 S25 ORGA25
 S32 ORGA32
 S40 ORGA40
 S50 ORGA50

BL16 ORGA16
BL20 ORGA20
BL25 ORGA25
BL32 ORGA32
BL40 ORGA40
BL50 ORGA50

1441

     K

     S

C

JC

SD

6 10

12 63

GA

6

B

Z

GT

WS

MT

RT

WT

YZ

ORV

ORC 10

ORCA
ORGA

ORK

ORC
63, 80

MRC
MRG

ORS
MRS

ORW
MRW

RAP

RAT

RAN

RAK

RAG

RWT

SHM

SHM



1020

q

w

e

r

t

y

u

i

o

!0

!1

!2

!3

!4

!5

!6

!7

No.

q

w

e

r

t

y

u

i

o

!0

!1

!2

!3

!4

!5

!6

!7

R 1

L 2

1

1

4

2

2

4

2

2

2

1

1

2

2

2

1

4

4

A'

A

q w e r t y u i o !0 !1 !2 !3 !4 !5 !6 !7 !8 !9 @0 @1

#4 #5 #6 @5 @6 @7 @8 @9

#2 #3

@2 @3 @4

#0 #1

!8

!9

@0

@1

@2

@3

@4

@5

@6

@7

@8

@9

#0

#1

#2

#3

#4

#5

#6

No.

!8

!9

@0

@1

@2

@3

@4

@5

@6

@7

@8

@9

#0

#1

#2

#3

#4

#5

#6

NBR

NBR

NBR

NBR

PTFE

NBR

1

2

2

1

1

1

1

2

2

2

2

2

2

4

4

8

2

2

2

25

NBR

1
2

ORGA16 · 20 · 25
ORGA20

A-A'

C

JC

SD

6 10

12 63

GA

6

B

Z

GT

WS

MT

RT

WT

YZ

ORV

ORC 10

ORCA
ORGA

ORK

ORC
63, 80

MRC
MRG

ORS
MRS

ORW
MRW

RAP

RAT

RAN

RAK

RAG

RWT

SHM

SHM



1021

q

w

e

r

t

y

u

i

o

!0

!1

!2

!3

!4

!5

!6

!7

!8

No.

q

w

e

r

t

y

u

i

o

!0

!1

!2

!3

!4

!5

!6

!7

!8

R 1

L 2

1

1

4

2

2

4

2

2

2

1

1

2

2

2

1

4

4

1

A

A'

q w t ye r u i o !0 !1 !2 !3 !4 !5 !6 !7 !8 !9 @0 @1

#4 #5 #6 @5 @6 @7 @8 @9

#2

#3

#0 #1 @2 @3 @4

!9

@0

@1

@2

@3

@4

@5

@6

@7

@8

@9

#0

#1

#2

#3

#4

#5

#6

No.

!9

@0

@1

@2

@3

@4

@5

@6

@7

@8

@9

#0

#1

#2

#3

#4

#5

#6

NBR

NBR

NBR

NBR

PTFE

NBR

2

2

1

1

1

1

2

2

2

2

4

2

4

8

8

2

2

2

ORGA40

NBR

1
2

ORGA32 · 40 · 50
ORGA40

A-A'

C

JC

SD

6 10

12 63

GA

6

B

Z

GT

WS

MT

RT

WT

YZ

ORV

ORC 10

ORCA
ORGA

ORK

ORC
63, 80

MRC
MRG

ORS
MRS

ORW
MRW

RAP

RAT

RAN

RAK

RAG

RWT

SHM

SHM



1022

16

20

25

32

40

50

A

130

160

200

250

300

320

B

  65

  80

100

125

150

160

C

15

19

23

27

30

32

D

27

34.5

40

54

60

75

E

12

16

18

21.5

23.5

24

F

5.5

7.5

8.5

10.5

12

13

G

1.5

2

2

4

2

3

H

15

19

22

30

32

40

J

4

6.5

6.5

8.5

9

14

Q

 M3×0.5 5

 M4×0.7 7

 M5×0.8 9

 M6×1 15

 M6×1 15

 M8×1.25 15

R

31

39

44

56

64

78

S

18

24

27

36

42

52

T

27

34

40

52

60

74

W1

7

5.5

6

11

11

14

W2

7

9.5

10

11

11

14

X

M5×0.8 4

Rc1/8

Rc1/8

Rc1/4

Rc1/4

Rc3/8

ORGA mm

ORGA ×

16

20

25

32

40

50

Y

6

7

8.5

12

11

14

Z

18

24

27

36

42

52

AA

45

56

65

80

95

120

AB

35

46

50

60

70

90

AC

27

33

38

48

58

67

AD

23.5

28.5

34

42

52

60

AE

7.5

8.5

10

12

16

18

AF

42

52

60

78

90

107

AG

10

12

14

18

20

22

AH

70

88

110

145

170

180

AJ

105

140

165

AK

56

74

90

125

150

162

AL

45

55

70

90

110

120

AM

2.5

2.5

2.5

AN

7

7

7.5

7.5

7.5

9

AP

 M3×0.5 7

 M4×0.7 8

 M5×0.8 9

 M6×1 13

 M6×1 15

 M8×1.25 17

AQ

22

30

35

38

40

50

AL 6-AP

AK

AJ

AH

AN

AM

A
Q

G

H
J

F

E

B

D

2-

C

A
C A
D

AB

AA

A
E

Z
Y

A
F

AG

W1 W2

AB

S

R

8-Q

BA

A'

A

6-X
4

T

ORGA16·20·25 4

ORGA-
C

JC

SD

6 10

12 63

GA

6

B

Z

GT

WS

MT

RT

WT

YZ

ORV

ORC 10

ORCA
ORGA

ORK

ORC
63, 80

MRC
MRG

ORS
MRS

ORW
MRW

RAP

RAT

RAN

RAK

RAG

RWT

SHM

SHM



1023

mm

-K -S

16

20

25

32

40

50

SA

50

56

60

72

77

100

SB

  8.5

10.5

12

15

17

19

SC

5

5

5

7

7

10

SD

20

20

15

19.5

12

30

SE

  65

  80

100

125

150

160

SF

 35

 44

 55

 72.5

 85

 90

SG

10

10

12

16

16

25

SH

3

3

4

5

5

6

SJ

14.5

16.5

21

24.5

34

37

SK

 35

 39

 38

 46.5

 42

 63

16

20

25

32

40

50

LA

14

18

22

26

24

32

LB

 10

 13

 16

 18

 12.5

 22

LD

26

33

39

50

58

72

LE

18

24

27

36

24

52

LG

10

13

16

20

21

24

LH

1.6

2

2.6

3.2

5

4

LJ

15

19

22

30

32

40

LC

4- 3.6

4- 4.6

4- 5.8

4- 6.6

4- 9, 14 1

4- 9

16

20

25

32

40

50

FA

40

50

50

65

75

75

FB

28

35

35

45

55

55

FC

3.4

4.5

5.5

6.6

9

9

FD

  45

  57

  70

  82

  96

110

FE

38

48

58

70

80

94

FG

5

6.3

8

8

10

10

16

20

25

32

40

50

SL

M10×1

M12×1

M14×1.5

M18×1.5

M20×1.5

M22×1.5

SM

7

8

9.5

11.5

15.5

17

SN

  44

  55

  64

  79

  94

118

SP

36

45

51

64

76

92

SQ

22

26.5

31.5

39

48

53.5

SR

41.5

51.5

59.5

77.5

89.5

106

SS

0.5

0.5

1

1

1

1

16

20

25

32

40

50

SP

36

45

51

64

76

92

SQ

22

26.5

31.5

39

48

53.5

SR

41.5

51.5

59.5

77.5

89.5

106

JM

5

6

6

8

10

12

16

20

25

32

40

50

JA

21

24

31

36

41

46

JB

 29.5

 35.5

 44

 51.5

 64

 69

SE

  65

  80

100

125

150

160

SF

14.5

16.5

21

24.5

34

37

JF

35

44

55

72.5

85

90

JK

6

7

9

10.5

6

8

JL

M10×1

M12×1

M14×1.5

M18×1.5

M20×1.5

M22×1.5

SM

7

8

9.5

11.5

15.5

17

SN

  44

  55

  64

  79

  94

118

SG SS

SF

SE

SA

SD MAX.

SC

S
B

S
H

JB

JF

SE

JA

SJ SK MAX.

SL

S
M

SP

SN

S
Q

S
R

SF JK MAX.

JL

S
M

SP

SN

S
Q

S
R

JM

L -L F -F

LC

LA

LB

LJ

LHLE

LD

LG

FB

FA

FE

FD

FG

4-FC

F

ORGA-AB1
ORGA-AB2

ORGA-L1
ORGA-L2

ORGA-F1
ORGA-F2

ORGA-B01
ORGA-B02

C

JC

SD

6 10

12 63

GA

6

B

Z

GT

WS

MT

RT

WT

YZ

ORV

ORC 10

ORCA
ORGA

ORK

ORC
63, 80

MRC
MRG

ORS
MRS

ORW
MRW

RAP

RAT

RAN

RAK

RAG

RWT

SHM

SHM



1024

·

 ·  · 

2

3

2

2

2

DC10~28V

DC4.5~28V

DC10~30V
AC85~230V
DC10~30V
AC85~115V CS4M

CS3M

ZG553

ZG530

CS5M

A
B

-ORCA
-ORGA

16
20
25
32
40
50

DC3~30V
AC85~115V

1441

G5

ORCA ORCA
ORGA ORGA

16 16
20 20
25 25
32 32
40 40
50 50

A 1000mm
B 3000mm

ORCA ORCA
ORGA ORGA

R
ON

OFF
C

ON
OFF

0.2N·m
2 ORCA16·20·25

C

C

ONOFF

ON OFF 2

1

(M3)

1.5

16

20

25

32

40

50

ZG530 , ZG553 CS M

3.3~5.5

3.8~6.4

4.1~6.9

5.0~8.3

6.5~10.9

8.2~13.6

0.6

0.7

0.7

0.8

0.8

1.0

11

  9~11

10~14

13~15

15~21

15~24

20~28

1.5

1.5

1.5

2

2.5

2.5

11

mm

ON)

ON ms mm / mm/s ×103

1

ORCA…1

ORGA…2

C

JC

SD

6 10

12 63

GA

6

B

Z

GT

WS

MT

RT

WT

YZ

ORV

ORC 10

ORCA
ORGA

ORK

ORC
63, 80

MRC
MRG

ORS
MRS

ORW
MRW

RAP

RAT

RAN

RAK

RAG

RWT

SHM

SHM



1025

16

20

25

32

40

50

A

  65

  80

100

125

150

160

B

15

19

23

27

30

32

C

39

50

66

87

109

117

D

24.5

28

30

34

39

45

E

20

24

28

36

41

46

·

ORCA ORGA

ORCA

ORCA 1

LH-ORCA 5 /

ORCA mm

16

20

25

32

40

50

A

65

80

100

125

150

160

B

15

19

23

27

30

32

C

39

50

66

87

109

117

D

22

25.5

29

35

39

45

E

17.5

22.5

24.5

33.5

35.5

43.5

ORGA mm

32

40

50

CL

180

220

240

A'

305

370

400

mm

A

B C 22 C22 B

A

D

E

A

CL A'

CL

ORCA-SW1
ORCA-SW2
ORGA-SW1
ORGA-SW2

C

JC

SD

6 10

12 63

GA

6

B

Z

GT

WS

MT

RT

WT

YZ

ORV

ORC 10

ORCA
ORGA

ORK

ORC
63, 80

MRC
MRG

ORS
MRS

ORW
MRW

RAP

RAT

RAN

RAK

RAG

RWT

SHM

SHM



1026

5000

mm/s

2000

1000

500

200

100
0.2

kg

10000

16
25

0.1 0.5 1 5 10 50 100 500 1000

5000

mm/s

2000

1000

500

200

100
2

kg

10000

32

1 5 10 50 100 1000 10000

5040

20

3 4

5000mm/s

2000

1000

300

200

100
1

16

0.5 2 3 10 50 100 500 1000

400
500

32
40

50

4 5

20

kg

25

16

20

25

32

40

50

15

18

21

26

40

40

mm

16

20

25

32

40

50

3.9

7.8

14.7

29.4

58.8

112.8

0.3

0.8

1.0

2.0

3.9

6.9

0.5

1.2

2.0

4.9

7.8

14.7

117

196.1

294.2

490.3

735.5

1176.8

Mp N·m Mr N·m My N·m W N

 · 

ORCA ORGA

 · 

ORCA

Fp

r1

Fy

r3

My=Fy r3

Mp=Fp r1

W

Fr

r2

Mr=Fr r2

ORGA

ORCA

ORGA

Fp

r1

Mp=Fp r1

Fy

r3

My=Fy r3

W1

W3

W2

Fr

r2
Mr=Fr r2

Mp Fp×r1 N·m
Mr Fr×r2 N·m
My Fy×r3 N·m

W N

Mp Fp×r1 N·m
Mr Fr×r2 N·m
My Fy×r3 N·m

W1,W2,W3 N

mm

16

20

25

32

40

50

3.9

7.8

14.7

29.4

58.8

 112.8

1.5

3.9

4.9

9.8

19.6

34.3

0.5

1.2

2.0

4.9

7.8

14.7

78.5

137.3

196.1

313.8

490.3

784.5

39.2

68.6

98.1

156.9

245.2

392.3

11.8

19.6

29.4

47.1

73.5

117.7

Mp
N·m

Mr
N·m

My
N·m

W1

N
W2

N
W3

N

mm

16

20

25

32

40

50

7.8

15.7

29.4

58.8

117.7

225.6

0.6

1.6

 2.0

 3.9

7.8

13.7

1.5

3.5

5.9

14.7

23.5

44.1

235

392

588

981

1471

2354

Mp N·m Mr N·m My N·m W N

16 3 20 3
25 32 1.5 40 1

50 1

16
3 20 3 25 32

1.5 40 1 50
1

1. 

2. Mr

1. 
ORCA 1006 ORGA

1017

2. 

3. 

mm

C

JC

SD

6 10

12 63

GA

6

B

Z

GT

WS

MT

RT

WT

YZ

ORV

ORC 10

ORCA
ORGA

ORK

ORC
63, 80

MRC
MRG

ORS
MRS

ORW
MRW

RAP

RAT

RAN

RAK

RAG

RWT

SHM

SHM



1027

16

20

25

32

40

50

19

25

29.5

36

39

48

15

19

22

30

35

40

19

25

29.5

36

39

48

14

18

22

26

26

32

10

13

16

20

22

24

10

13

16

18

18

22

6

7

8.5

12

14

14

FF LF LF2 LA LA2 LB LB2

mm

mm

1000

W

0

1500N

32

R

1000

500

2000 3000 4000 5000
0

40

50

10000

400

16

300

200

100

2000 3000

20

25

0

N

mm

W

R

10000

3000N

32

2000

1000

2000 3000 4000 5000
0

40

50

mm

W

R10000

800N

16

600

400

200

2000 3000

20

25

0

mm

W

R

10000

1000N

32

500

2000 3000 4000 5000
0

50

40

mm

W

R

10000

N 300

200

100

2000 3000

20

25

16

0

mm

W

R

R

130

160

200

250

300

320

215

265

335

430

520

560

16

20

25

32

40

50

ORCA mm

ORCA F  · L

R
F G

F L q L
F w FF LF2 L

L

R

130

160

200

250

300

320

16

20

25

32

40

50

ORGA mm

W

R

W

RR
F

W

R

W

R R

F

ORGA F

LB

LF

LA

L

LF
2

LA2

L

LB2

FF

F

q w

ORCA16 20 25 ORCA32 40 50

ORCAD16 20 25 ORCAD32 40 50

ORGA16 20 25 ORGA32 40 50

C

JC

SD

6 10

12 63

GA

6

B

Z

GT

WS

MT

RT

WT

YZ

ORV

ORC 10

ORCA
ORGA

ORK

ORC
63, 80

MRC
MRG

ORS
MRS

ORW
MRW

RAP

RAT

RAN

RAK

RAG

RWT

SHM

SHM



1028

m

Fo

1. 

2. 

0.5MPa

3

PAB 3

4

16 15mm 20 25
20mm 32 40 50 30mm

1. 4
striker

2. 
3. 

4. 1000mm/s
5. 

1000mm/s

6. 

7. 

16 1 16
20 25 1 21
32 40 50 1 31

E E1 E2

F0 ·L

L

m

F0

1

2

  E E1 E2 E3

F0·L m·g·L

    E E1 E2 E3

F0·L-m·g·L

L
m

F0

m
F0L

1 E3 E3' m·g·L·sin

2 P

  E  J

  E1 J

  E2 F0·L J

  E3 m·g·L J

  m kg

v m/s

  g 9.8 m/s2

F0 ·D2·P N

       D mm P MPa

  L m

kg
100

1.5

20 30 60 8040 50 70

1.0

0.5
20 25 32

40 50

16

m/s

C

JC

SD

6 10

12 63

GA

6

B

Z

GT

WS

MT

RT

WT

YZ

ORV

ORC 10

ORCA
ORGA

ORK

ORC
63, 80

MRC
MRG

ORS
MRS

ORW
MRW

RAP

RAT

RAN

RAK

RAG

RWT

SHM

SHM

m·v 2

2

m·v 2

2

m·v 2

2

4

m·v 2

2



1029

16

20

25

32

40 50

4

5

6

8

10

1. ORCA ORGA

0.1MPa

1
ISO VG32

1. 

2. 

3. 

 ·  ·  · 
 · 

1. 

2. 
SD

40 m

mm

16 1 5
20 1 6
25 1 7
32 1 9
40 50 1 11

16

20

25

32

40

50

117.7

274.6

588.4

980.7

1961.3

3922.7

N·cm

1. 

2. 

30

1. 
2. 

3. 

C

JC

SD

6 10

12 63

GA

6

B

Z

GT

WS

MT

RT

WT

YZ

ORV

ORC 10

ORCA
ORGA

ORK

ORC
63, 80

MRC
MRG

ORS
MRS

ORW
MRW

RAP

RAT

RAN

RAK

RAG

RWT

SHM

SHM




